
M4 Performance Exhaust
2227 Joe Field Road
Dallas, Texas 75229

www.M4exhaust.com
972-481-9300

Item#	 Description	 Part#
	 1A.	 Head Pipe #1	 HP-KAZX10R-081SS
	 1B.	 Head Pipe #2	 HP-KAZX10R-082SS
	 1C.	 Head Pipe #3	 HP-KAZX10R-083SS
	 1D.	 Head Pipe #4	 HP-KAZX10R-084SS
	 2.	 Collector Unit	 CU-KAZX10R-08SS
	 3.	 Springs	 SG-63
	 4.	 Black “GP” Cone	 FCM-KAZX10R-08CB
	 5.	 M8 x 16mm Hex Flange Bolt	 FA-HF816B
	 6.	 Bracket	 GS105
	 7.	 M8 Flange Nut	 FA-HH8N
	 8.	 M8 x 40mm Bolt	 FA-BH840B-SLEEVED
	 9.	 M8 x 45mm Bolt	 FA-BH845B-SLEEVED

M4 Exhaust System KA9772-GP


